ALL INDIA SCHOOL SCHOLARSHIP EXAMINATION

Time : 2 Hours CLASS : 9TH M.M. 200
Examination Center : Roll No.
. LANGUAGE PAPER : ENGLISH ° Marks : 50
Uses the correct form of Non-Finities : ;
Theytoldus................. stories (interest) 2.Helooked atthe .......c.ccocuvvennee chair (Break).
| am saving money for ............... acar. (Buy). 4 ooeererrenn(walk) is his favourite exercise.
Fill in the blanks with suitable sentence linkers :
................. you are late, you cannot sit in test. 2.Runfast...........................you will miss the train.
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E—— you do notwork hard, you can not pass. 4. Penis mighter....................... sword.
Change the narration :

Hesaid, "Yes, Lamya Talll" v s s v st s i s s s R
Ram:said: "Whata bealififGl flOWer." «iuismssimmsnsimismimmimmitmssims i
He strongly desired fora glass Of Water.............ccriiic e
Combine the sentences into one complex sentence :

Vitligigiits own reward. ThISi8 Afatt . i aissivisssmstssins o
| offered him help. He refused totakeit..........cccoovvvneiccnnnencaes

The dog is large, the catis small.....................
He said something. Thatis of noimportance
Pick out the word which is not of group :

Decide, determine, destroy, resolve.... esspampmassssemssasansnensazmnne e R R R
Watch, prick, observe, see
Belief, faith, except, trust.
Fill in the blanks right word.

Allwere present......caunsiimmasiisssesisn (accept, except) Sohan.

Theimesting of the sussmnmmminsings (Council, Counsel) is still going on.

Fili in the blanks with correct form of verb.

By 100, Lo nanmassmiiiss (finish) my home task.

WE iisicssisnussmsmsiavinsisssssisspavsssessisseasinisens (receive) him, before the manager came.

TFREBOV v mmmmssamsmmsseomsrmssns sy e (come) in before his work, he went to a walk. '

AREINE ..ot (complete) his work, he went to a walk.

Thethief ..o (run) away before the Police reached here.

E Il. SOCIAL STUDY Marks : 30
Whatistotal area Of YOUR SEE?. . ..o cirerrersrssssmeememes st sisiis s s G s B s et
T cermsmsnsmssmsssnsismasmnsssmemivmes i is the capital of Arunachal Pradesh.

Who was first ChisfMinister oF VOUFSIRIE ....cininanmisis i st
Governoris administrated oath by ...........cc.ccouuue
Give names of two states which produce Coffee .........ccccocvirriiinniinin s
VWHO WaS firSt VICOTOV OF INTIG sisvuissiisivsssssisissimimmns sovossaiviooinssasassisesssssssasiissosssaissssanasssesssissosss
Bravely is famMOUS fOF ...;ccuieimsimimsimssmmsmssssissinsisssmssnsssersensssssnsissassssmsssmssnssastsssossssasssssasssssssssessess
Write the total number of countrieS at Present ..............cociicceeosisiosssnessssssseseesuisssssssessisssavsnssssssssassanaas
Shi H.D: Deve Godabelongs 0. o asumuvmmmmssmomsapsmsapossasmsmenseassmonsseamsns party
The two states which have WINtEr Tain, @re ..........cccoceiiiiniiiiiie i
Name two rice producing provinces of INAia .............ccveiiiiiiiimcinii e
Who found fascist movementin Haly 2 ..o s
In whose name is the administration runin yourstate? ............c.coeiiiioiciiiiiiiic s
What doyoumean DY SARRE . i esosnisiiasssssssssssssned oo sess s G s
lll. SCIENCE Marks : 30
XA T INSIAT 50000005 035005000 e A SR A LS S s A S
Name the two Chemical Fertilizers...........ccccccovericcnnnne
Ca(OH),+Cl, = e S S RS
Cu+H,SO, R A—
Name the inventor of fountain pen which you are using ....
Who invented the [ogarithms? ........c....coeevvemmriennreireneennnn.
Ricktes is caused due to difficiency of vitamin ....
Name the planet whichis neartothe arth.............ccooei
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Name two varieties yielding Of Wheat ...
What is the 1aw Of CONSEIVALION 7 .....c.ccovmiueuriiicietitiinseaeiesee st
Which animal is considered the 1azZIESt 2 ...
What is gaseous compoSItion Of WALET? ...........c. it
Name the gas which initiale [aUGhING? ... s
Name the wire used in €leCtriC NBALET .........cvreuriiciinri s
What s found in the tear of HUMEAN? ........c.oooviiiiiiiinniie s s
IV. GENERAL KNOWLEDGE (30 MARKS)
When was the first general election in INAIa ? ..........oooveiiiigii s
Konark TEMPIE iS @IS0 CAIEA .........ouuririiiniie e
Panama Canal CONNECES .....c..ociummnssmsarmensarassansrasasanssasaes 7] [ Oceans.
Whatis the cUrrenCy Of BRULANT .........ccurimiieiieeeeieisri s
Who wrote the holy book the Bhagwat GIta? ..o
Name the National SONG OF INAIA 2 ........uuururermeiieiee e
Name the animal which does Not ProduCe SOUNA? ........couiivriiimsinississ s
What is the distance FrOM NOTH 10 SOULN OF INGIAT ..o
Which country's native are human flesh @ater? ...

Whichis highest place ofthe WO ? ..o s

The first Governor General Of INAIBWAS ........ccccoeueeririrccniiiiieiinees et st es

The second battle of Panipat was foughtin ...
V. MATH AND MENTALABILITY (60 MARKS)

VB =
A{1,2,3}and B={2,3,5HheN AU B = .....coooiriirir e

The product of 4u3 - 3u+and u4-2u3 +6=.
(DI R incsmssnmsssmsseomsinsmemsamsms ooy s 53
The factor of 144y2 + 24y + 1=
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An angle made in semicircle is
42058 X102 = ......oooooesseeesssessseseessssssseses s sss e 88155448 RR R AR
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2 (BHAYX 2 S oot R R AR
Write three nextnumbers : 1,3,5,7 = ..o

Find the sum of these fourterms : 9, 25,49, 81 =
(1 G .V i D0y ' 110 L OB TR O
Ram goes 10m due East and then 4 m due North. How far is he from starting point? ...........c.......
IfA+B =5, AB =1 and A3 + B3 =100. Findthe value 0f A2 + B2 ._............ooverrvcrermmmsessssscscrmsnonnrnneeee
19X6-2X26+4+11= oo 22. Thevalue of 107 x 108 = ............
What s the compund interest of 1325 Rs. at the rate of 5% for the three years is
How many coins are in 1000 RS. PAISE = .......cvuuriuiriuimmirisisiniisians s
Ram is brother of Sham and Harri is the brother-in-law of Ram. What is between the mothér of Hari
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Iflength is 30 cm heightis 29cm and width is 35 cm. Whatisthearea? ..............




